# **Apartment in Zejtun**



#### Zejtun, South



## €285,000

Total Rooms: 7

Bathrooms: 2

Floor Area (m<sup>2</sup>) : **129** 

Bedrooms: 3

Reference No: 240271044-1524

## **Apartment - For Sale - Zejtun**

ZEJTUN—APARTMENT—Exclusively entrusted to RE/MAX is this fully furnished property, situated in a block of only 4 units and served with a lift. The layout comprises a Living room at the entrance, Kitchen/Dining complimented with a Balcony, 3 double Bedrooms, one of which has an En-suite (presently being used as a Laundry room), main Bathroom, and a back Balcony. Freehold. Call the agent for an immediate viewing.

## **Features**

- 🗸 Lift
- En Suite
- Electricity Utility
- Skirting
- Balcony

## Rooms

- Kitchen/Dining : 5 x 4 m (20 m2)
- Living : 5.8 x 2.8 m (16.24 m2)
- Double Bedroom : 3.6 x 3.6 m (12.96 m2)
- Double Bedroom : 3.6 x 3.4 m (12.24 m2)
- Double Bedroom : 5 x 4 m (20 m2)
- Hallway : 11.4 x 1.2 m (13.68 m2)
- Bathroom : 3.7 x 1.4 m (5.18 m2)
- Shower Ensuite : 1.8 x 1.2 m (2.16 m2)
- Open Space : 3 x 1.2 m (3.6 m2)
- Open Space : 2 x 1 m (2 m2)

- Ceramic Floor
- ✓ Water Utility
- Gypsum Plastering
- Double Glazed

































Ian Fenech RE/MAX South - Marsascala

M: 79044543 E: ianf@remax.com.mt T: 21555000

**RE/MAX South - Marsascala** 60,Triq is-Salini, Marsascala, Malta